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Instructions: 1.  All questions in Section — I carry equal marks.

$

2. Attempt any Two questions in Section — I.

3. Question 5 in Section — I is COMPULSORY. ¢

e ‘“\\'

1. (A) Explain Scope of Financial Managemen 10
(B) Explain the roles of Financial Manz @ imes. 10

2. (A) Explain meaning, causes 4 dies of over Capitalisation. - 10
| Discus a g formulation of capital structure. . 10
aning and types of working capital. ' | . 10

Explain the objectives of Holding Inventories in company. 10

4. (A) Explain the producer of preparing Capital Budgeting. ' 10

(B) (i) Ambika Ltd. has issued 9000 equity shares of ¥ 60 each. The market price
of that share is ¥ 88. Earning of the company is ¥ 72,000. The company
wants to raise fund, it intends to issue the new equity shares at a discount of
¥ 4 per share. The expenses of the issue of the share will be T 4 per share.
Find out the cost of equity. S

- (i) Ashok Ltd. have investment proposal of ¥ 14,50,000 in development
scheme in this year. After deducting 10% depreciation per annum profit will
be T 4,25,000. Assuming tax rate at 40%, calculate the payback period. S
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Section —'Ii
10

Answer the following questions in short : (Any five)
1. State the limitations of Traditional approach of financial function.

2. What is Wealth maximisation ?

3. What is Trading on equity ?

4,  Whatis Leverage ? ' P\

5.  Write advantages of Debentures. ‘ ‘ \“
o . . , ®

6.  State principles of Working Capital management. . 0\\

7. What is the cost of maintaining receivable

@

9.  Mention any* p st pital.

10. Givﬂ\o omputing cost of Redeemable preference share capital.

w

8.  Write down four objectives
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